R:=100 £2 L:=5mH C:=2 pF

w=10000 T

Vit =(50£135 °) V
S

1

X;:=7.w+L=50i £2 Xoi=— =-50i 2
jowoc
Calcolare Zr.
R-X;  100-j50 75000
TR, T 100450 i 50
\V 100° +50° Zarctg 100
| 25000 _ 5000490 o 5000 4(90—26.6)
111.84£26.6 111.8£26.6 111.8
polare
=44.7/63.4

complessa
= 44.7 cos(63.4 °)+5+44.7 sin(63.4 °) = 20+ 540

Calcolare VrL e Ve
Zpr, 44.7/63.4 _44.7/63.4 44.7£63.4-V,,

tot —

tot™

Var: tot =

= . ) . = 1 . 2 _
Zp+Xe 20 + 540 — 550 20310 50° +10° éarctg( 2;0)
44.7/63.4 44.
= 2ATL034 o 135 = 24T -+50£(63.4+135+26.6)= 100£225
22.4/-26.6 22.4 palage
complessa
=100 cos (225 °)+;-100 sin(225 °) = —70.7 —570.7
X, 3
Vyi=—— O totzﬂ-zsoa% =2 +50£(—90+135+26.6)
Zp+Xe 22.4/-26.6 22.4
polare
= 111.6£71.6

complessa
= 111.6 cos(71.6 °)+j+111.6 sin(71.6 °) = 35.2+ 3106

Verificare che Vtot = VRL + Vc
Var+Ve = (=70.7—5-70.7)+(35.2+j-106)=—35.5+35.3i

Viet = 50 cos(135 °)+5-+50 sin(135 °)=—35.355+ 35.355i



